X Y

z

CIE llluminant E

48.7
83.6
35.75
52.15
17.29
65.1
48.7
0.9

24.62
95.66
71.91
76.24
5.22
28.94
24.62
0.9
100.0 100.0
0.1 0.1
100.0 100.0

CIE Standard Illluminant D65

42.77
77.37
35.41
53.08
18.52
60.44
42.77
0.85

95.04
0.09

95.04

21.83
95.05
74.08
79.03
5.83
26.77
21.83
0.9
100.0
0.1
100.0

091 O
837 O
835 0
99.98 0.
925 0.
0.
0.
0.
0.

(3]

92.52
0.91
0.9
100.0
0.1
100.0

48
656
333
33
0.332
0.333

w;

0.99 0.651
9.14 0.426
9.12 0.298
108.870.22

100.7 0.148
100.720.321
0.99 0.651
0.98 0.312
108.890.312
0.1 0.311
108.890.312

CIE llluminant A

68.59 33.77
104.6198.12
36.95 65.2
42.19 67.08
6.22 2.77
73.82 35.64
68.59 33.77
098 0.9

109.8499.99
0.1 0.09
109.8499.99

a* =500 [ (X /%)

0.667
0.503
0.344
0.291
0.156
0.525
0.667
0.447
0.447
0.445
0.447

0.34
5.02
5.0
35.55
30.86
30.88
0.34
0.32
35.58
0.03
35.58

U3 (Y1)

=500 @ - a,) Y

1/3

X y

56.7
98.3
87.9
89.9
27.3
60.7
56.7
8.1
100.0
0.9
100.0

0.155
0.331
0.333
0.333
0.332
0.333

0.332
0.523
0.624
0.327
0.046
0.142
0.332
0.328
0.329
0.327
0.329

53.8
98.0
88.9
91.2
29.0
58.7
53.8
8.1
100.0
0.9
100.0

0.328
0.472
0.608
0.463
0.069
0.253
0.328
0.407 8.1
0.407 99.9
0.405 0.9
0.407 99.9

64.7
99.2
84.5
85.5
19.1
66.2
64.7

] b*=200[(Y/Y)

1/3

-(212,)

=500 (' - bj,) Y

1/3
]

b*

a’ b’

0.2704 -0.0287 %00(r>0,009) 00 590_770
0.2059 -0.0382 %YO(r>0,009) 01 490 770
0.1706 -0.042 %LO0(r>0,009) 02 490 590
0.1898 -0.0943 %CO0(r>0,009) 03 380 590
0.3211 -0.2246 %V0(r>0,009) 04 380_490
0.2822 -0.1269 %M0§r>0 009% 05 380 490..590-770
0.2704 —0.0287 %00(r>0,009) 06 590 770
0.2154 -0.0861 %NO(r=0,009) 07 380_770
0.2154 -0.0861 %W1(r=1 OOO) 08 380 770
0.2154 -0.0861 %NO(r= 0 ,001) 09 380 770
0.2154 -0.0861 %W1(r=1 OOO) 10 380_770
0.2741 -0.0299 %00(r>0,009) 00 590 770
0.2045 -0.0383 %YO0(r>0,009) 01 490 770
0.1713 -0.0416 %LO0(r>0,009) 02 490 590
0.1918 -0.0932 %CO0(r>0,009) 03 380 590
0.3219 -0.2164 %V0(r>0,009) 04 380_490
0.2874 -0.1302 %MO(r>0,009) 05 380_490..590-770
0.2741 -0.0299 %00(r>0,009) 06 590_770
0.2154 -0.0861 %NO(r=0,009) 07 380_770
0.2154 -0.0861 %W1(r=1,000) 08 380 “770
0.2154 -0.0861 %NO(r= O ,001) 09 380 770
0.2154 -0.0861 %W1(r=1 OOO) 10 380_ ~770
0.2644 —0.0263 %00(r>0,009) 00 590_770
0.2133 -0.0451 %YO(r>0,009) 01 490 770
0.1727 -0.0516 %L0(r>0,009) 02 490 590
0.1789 -0.0984 %CO(r>0,009) 03 380_590
0.2734 -0.2715 %V0(r>0,009) 04 380_490
0.2661 -0.1159 %M0§r>0 0093 05 380_490..590-770
0.2644 -0.0263 %00(r>0,009) 06 590 770
0.2154 -0.0861 %NO(r=0,009) 07 380_770
0.2154 -0.0861 %W1(r=1,000) 08 380 ~ 770
0.2154 -0.0861 %NO0(r=0,001) 09 380 770
0.2154 -0.0861 %W1(r=1,000) 10 380 _ ~ 770
a=(1/%)"(x1y)*? b=-04(12)"z1y)?
=0,2191 &/ y)"° =-0,08376 ¢/ y)**®

OYLCVM_ONW._0

(X, Y, Zz 0,89)
CIELAB fir n=D65
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